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Answers

1. 1,548

2. 1,591

3. 726

4. 1,530

5. 1,794

6. 1,260

Use the array provided to solve each problem.

1) 43×36 =

40

30

3

(40 × 30)
1,200

(3 × 30)
90

(3 × 6)
18

6

(40 × 6)
240

2) 37×43 =

30

40

7

(30 × 40)
1,200

(7 × 40)
280

(7 × 3)
21

3

(30 × 3)
90

3) 33×22 =

30

20

3

(30 × 20)
600

(3 × 20)
60

(3 × 2)
6

2

(30 × 2)
60

4) 34×45 =

30

40

4

(30 × 40)
1,200

(4 × 40)
160

(4 × 5)
20

5

(30 × 5)
150

5) 39×46 =

30

40

9

(30 × 40)
1,200

(9 × 40)
360

(9 × 6)
54

6

(30 × 6)
180

6) 36×35 =

30

30

6

(30 × 30)
900

(6 × 30)
180

(6 × 5)
30

5

(30 × 5)
150
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